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’ 100kN/mM%#BZ 5% -l -~ = -|3mEBZ5 = ~ = = —| 100kN/m%#8% % = -~ = -|3mZFBZ 5 o ~ = = =
ZFhst 1.00/0.00 ~ 6.07 76.06] #hLlst |0.00 ~ 0.00| 1.74 8.81 st 1.00] 5.00 ~ 6.94 76.06] Thls | 500 ~ 6.94| 1.74 8.81
9 100kN/mM##BZ 5 -l -~ = -|3mEBZ5 = ~ = = —| 100kN/m%#8% % = -~ = -|3mZFBZ 5 o ~ = = =
ZFhst 1.00/0.00 ~ 528 65.81| £hList |0.00 ~ 0.00] 1.61 8.15 FhLst 1.00] 5.00 ~ 5093 65.81| #hiist | 500 ~ 593| 1.61 8.15
5 100kN/m%# 2 % 1.00[{0.00 ~ 1.07 116.15|3m%E#82 5| - ~ = - —| 100kN/M%#% % 1.00| 10.58 ~ 14.00 116.15|3m%E#BZ % -~ = = =
ZFhst 1.00/1.07 ~ 8.86 100.00f Zhlust [0.00 ~ 8.86| 2.14 10.81 FhLst 1.00] 5.00 ~ 10.58 100.00f Zhlust | 500 ~ 14.00| 2.14 10.81
A 100kN/ Mm% 2 % 1.00{0.00 ~ 1.13 116.99| 3m%E#BZ 5| - ~ = - —| 100kN/MZ#% % 1.00| 10.56 ~ 14.00 116.99| 3m%E#BZ 5 -~ = = =
ZFhst 1.00[1.13 ~ 891 100.00f Zhlust [ 000 ~ 891 2.22 11.24 FhLst 1.00] 5.00 ~ 10.56 100.00f Zhlist | 500 ~ 14.00] 2.22 11.24
- 100kN/ Mm% 2 % 1.00/0.00 ~ 0.50 107.36| 3m%E#BZ 5| - ~ = - —| 100kN/MZ#% % 1.00| 10.58 ~ 12.00 107.36| 3m%E#BZ % -~ = = =
Zhst 1.00/0.50 ~ 8.28 100.00| Zhlust [ 000 ~ 828 2.14 10.81 st 1.00] 5.00 ~ 10.58 100.00f Zhlist | 500 ~ 12.00| 2.14 10.81
5 100kN/m%# 2 % 1.00[{0.00 ~ 1.11 116.68| 3m%E#BZ 5| - ~ = - —| 100kN/MZ#% % 1.00| 10.54 ~ 14.00 116.68| 3mZE#BZ 5% -~ = = =
Fhst 1.00[1.11 ~ 8.89 100.00f Zxlust [ 000 ~ 889 2.17 10.96 st 1.00] 5.00 ~ 10.54 100.00f Zhkist | 500 ~ 14.00] 2.17 10.96
; 100kN/ Mm% 2 % 1.00/0.00 ~ 1.62 124.72| 3m%E#BZB| - ~ = - —| 100kN/MZ#% % 1.00| 10.55 ~ 16.00 124.72| 3m%E#BZ % -~ = = =
ZFhst 1.00/1.62 ~ 9.40 100.00f Zxlust [0.00 ~ 940 2.41 12.20 st 1.00] 5.00 ~ 10.55 100.00f Zhlist | 500 ~ 16.00f 2.41 12.20
8 100kN/mM%#BZ % -l -~ = -|3mEBZ5 = ~ = = —| 100kN/m%#8% % = -~ = -|3mZEBZ 5 o ~ = = =
ZFhst 1.00/0.00 ~ 764 97.92| #hbLlst |0.00 ~ 7.64| 2.15 10.87 st 1.00] 5.00 ~ 10.19 97.92| #h4 | 500 ~ 10.19| 2.15 10.87
5 100kN/m%#B 2 % 1.00[{0.00 ~ 0.61 109.12| 3m%E#BZB| - ~ = - —| 100kN/MZ#% % 1.00| 10.86 ~ 12.59 109.12| 3m%E#BZ % -~ = = =
Fhst 1.00/ 0.61 ~ 8.40 100.00f Zxlust [ 000 ~ 840 2.32 11.73 FhLst 1.00] 5.00 ~ 10.86 100.00f Zhlust | 500 ~ 1259 232 11.73
10 100kN/ Mm% 2 % 1.00/0.00 ~ 159 124.31|3m%E#BZ 5| - ~ = - —| 100kN/MZ#% % 1.00| 10.53 ~ 15.94 124.31|3m%E#BZ 5 -~ = = =
Fhst 1.00/1.59 ~ 9.38 100.00f Zhlust [ 000 ~ 9.38| 2.38 12.04 st 1.00] 5.00 ~ 10.53 100.00f Zhlist | 500 ~ 15.94| 238 12.04
" 100kN/ Mm% 2 % 1.00/0.00 ~ 0.50 107.37|3m%E#BZ 5| - ~ = - —| 100kN/MZ#% % 1.00| 12.01 ~ 14.02 107.37|3m%E#BZ % -~ = = =
Fhst 1.00/0.50 ~ 8.28 100.00f Zxlust [ 000 ~ 828 1.96 9.93 st 1.00] 5.00 ~ 12,01 100.00f Zhlist | 500 ~ 14.02| 1.96 9.93
12 100kN/mM%#BZ % -l -~ = -|3mEBZ5 = ~ = = —| 100kN/m%#8% % = -~ = -|3mZEBZ 5 o ~ = = =
ZFhst 1.00/0.00 ~ 6.29 79.01| £hbList |0.00 ~ 0.00] 1.63 8.24 st 1.00] 5.00 ~ 7.63 79.01] #hii4 | 500 ~ 7.63] 1.63 8.24
13 100kN/mM%#BZ % -l -~ = -|3mEBZ5 = ~ = = —| 100kN/m%#8% % = -~ = -|3mZEBZ 5 o ~ = = =
Fhst 1.00/0.00 ~ 3.35 4258| ZnLlst 1000 ~ 335 2.35 11.85 st 1.00] 5.00 ~ 578 4258| Znkls | 500 ~ 578 2.35 11.85
14 100kN/mM%#BZ % -l -~ = -|3mEBZ5 = ~ = = —| 100kN/m%#8% % = -~ = -|3mZEBZ 5 o ~ = = =
Fhst 1.00/0.00 ~ 215 29.31| #hbLlst |0.00 ~ 2.15| 257 12.98 FhLst 1.00] 5.00 ~ 5.18 29.31| #hiist | 500 ~ 518| 2.57 12.98
15 100kN/m%#B 2 % 1.00[{0.00 ~ 0.02 100.23| 3m%E#BZB| - ~ = - —| 100kN/MZ#% % 1.00] 12.25 ~ 12.31 100.23| 3m%E#BZ -~ = = =
Fhst 1.00/0.02 ~ 7.80 100.00f Zhlist 000 ~ 7.80[ 1.95 9.86 FhLst 1.00] 5.00 ~ 12.25 100.00f Zhblst | 500 ~ 12.31] 1.95 9.86]
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16 100kN/mM%#BZ 5% -l -~ = -|3mEBZ5 = ~ = = —| 100kN/m%#8% % = -~ = -|3mZFBZ 5 o ~ = = =
s 1.00/0.00 ~ 7.35 93.79| #h L4t 1000 ~ 7.35 1.93 9.76 s 1.00f 500 ~ 11.09 93.79| #hLlst | 5.00 ~ 11.09] 1.93 9.76
17 100kN/m##8 %% 1.00{ 0.00 ~ 0.89 113.29| 3m%*x#B 25 = Kad = = —| 100kN/mM%#2Z % 1.00{ 12.66 ~ 17.39 113.29| 3m%x#B 25 =l ~ - - =
s 1.00/0.89 ~ 8.67 100.00f Z=hkl4t+ |0.00 ~ 8.67| 2.10 10.61 s 1.00f 5.00 ~ 12.66 100.00f Z=hlst | 5.00 ~ 17.39] 2.10 10.61
100kN/mM%#BZ 5 ~ 3ImEBAD ~ 100kN/m#%#8% % ~ 3mERBAD ~
ZFhst ~ ZFhLst ~ FhLst ~ ZFhLst ~
100kN/mM%#BZ % ~ 3mEBAD ~ 100kN/mM%#8% % ~ 3mERBAD ~
ZFhst ~ ZFhLst ~ FhLst ~ ZFhLst ~
100kN/mM%#BZ % ~ 3mEBAD ~ 100kN/mM%#8% % ~ 3mERBAD ~
Zhst ~ ZFhLst ~ st ~ ZFhLst ~
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/mM%#8% % ~ 3mERBAD ~
Fhst ~ ZFhLst ~ st ~ ZFhLst ~
100kN/mM%#BZ 5 ~ 3ImEBAD ~ 100kN/mM%#8% % ~ 3mERBAD ~
ZFhst ~ st ~ st ~ ZFhLst ~
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/mM%#8% % ~ 3mERBAD ~
ZFhst ~ ZFhLst ~ st ~ ZFhLst ~
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3mERBAD ~
Fhst ~ st ~ FhLst ~ ZhLst ~
100kN/mM%#BZ 5 ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3ImERBAD ~
Fhst ~ st ~ st ~ ZhLst ~
100kN/mM%#BZ 5 ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3mERBAD ~
Fhst ~ FhLst ~ st ~ st ~
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3ImERBAD ~
ZFhst ~ st ~ st ~ LSt ~
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3mERBAD ~
Fhst ~ st ~ st ~ ZFhLst ~
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/mM%#8% % ~ 3ImERBAD ~
Fhst ~ st ~ FhLst ~ st ~
100kN/mM%#BZ 5 ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3mERBAD ~
Fhst ~ st ~ FhLst ~ st ~ |
=EFR



